

11/10/20

11 A

پاسخنامه تشریحی تکلیف شماره کلاس

کبریا عباسی

نام و نام خانوادگی

$$\frac{x-1}{x} - \frac{x}{x-1} \geq 0 \rightarrow \frac{(x-1)^2 - x^2}{x(x-1)} \geq 0 \rightarrow \frac{-2x+1}{x(x-1)} \geq 0 \quad \left(\frac{1}{\frac{1}{x} - 1} + \frac{1}{\frac{1}{x-1}} \right) \rightarrow 0 = (-\infty, 0) \cup \left[\frac{1}{2}, +\infty \right)$$

$$x+1 \neq 0 \rightarrow x \neq -1 \quad x \neq 0 \quad x-1 \neq 0 \rightarrow x \neq 1 \quad x+2 \neq 0 \rightarrow x \neq -2 \quad \left(\rightarrow \frac{\frac{1}{x-1} + \frac{1}{x+2} \neq 0 \rightarrow \frac{x^2 + 4 + x - 1}{(x-1)(x+2)} \neq 0 \rightarrow x+3 \neq 0 \rightarrow x \neq -3 \right) D = \mathbb{R} - \left\{ -\frac{1}{2}, -\frac{3}{2}, -1, 0, 1 \right\}$$

$$\left(\frac{1}{x} - 9 \right) (3x - \varepsilon^x) \geq 0 \quad \frac{1}{x} - 9 = 0 \rightarrow x = -\frac{1}{9} \quad 3x - \varepsilon^x = 0 \rightarrow x = \frac{1}{3} \quad \left(\frac{-\frac{1}{9} + \frac{1}{3}}{\frac{1}{x} - 1} + \frac{1}{\frac{1}{x} - 1} \right) D = (-\infty, -\frac{1}{9}] \cup \left[\frac{1}{3}, +\infty \right)$$

$$\sqrt{x-1} + \sqrt{y+1} = 3 \xrightarrow{\text{مربع}} y+1 = (3 - \sqrt{x-1})^2 \rightarrow y = (3 - \sqrt{x-1})^2 - 1 \rightarrow x-1 \geq 0 \rightarrow x \geq 1 \rightarrow D = [1, +\infty)$$

$$x^2 - x - 2 \geq 0 \rightarrow D = 9 \rightarrow x = \frac{1 \pm 3}{2} \rightarrow \frac{1}{2}, -1 \quad \left| \frac{-1}{\frac{1}{x} - 1} + \frac{1}{\frac{1}{x} - 1} \right| \rightarrow (-\infty, -1) \cup (1, +\infty) \quad ①$$

$$x^2 - 1 \geq 0 \rightarrow D = \varepsilon \rightarrow x = \pm 1 \quad \left| \frac{-1}{\frac{1}{x} - 1} + \frac{1}{\frac{1}{x} - 1} \right| \rightarrow (-\infty, -1] \cup [1, +\infty) \quad ②$$

$$\sqrt{2x-1} + 1 \neq 0 \rightarrow \sqrt{2x-1} \neq -1 \quad \text{همیشه منفی}$$

$$① \cap ② \rightarrow D = (-\infty, -1) \cup (1, +\infty)$$

$$x = -2 \Rightarrow 3 - \frac{1}{a} - \frac{1}{x} = 0 \rightarrow a = -\frac{1}{x}$$

$$-x^2 - \frac{1}{x}x + 3 \rightarrow D = \frac{1}{x} - \varepsilon(3) = \frac{\varepsilon 9}{x} \rightarrow x = \frac{1 \pm \sqrt{1-12}}{-2} \rightarrow -2$$

$$\frac{1}{x} = b$$

$$a+b = \frac{3}{x} - \frac{1}{x} = \frac{2}{x} \rightarrow ①$$

$$f(x) - x \geq 0 \quad x \geq 1 \rightarrow f(x) - x = x^2 - 2 - x \geq 0 \rightarrow x^2 - 2 \geq 0 \rightarrow x(x-1) \geq 0 \rightarrow x \geq 1 \rightarrow [1, +\infty) \quad ①$$

$$x < 1 \rightarrow f(x) - x = x^2 + 3 - x \geq 0 \rightarrow x + 3 \geq 0 \rightarrow x \geq -3 \rightarrow [-3, +\infty) \quad ②$$

$$① \cup ② = [-3, +\infty)$$

$$\left. \begin{aligned} f(a) &= (a+1)^{\sqrt{a}} = \sqrt{a+1}^{\sqrt{a+1}} \\ f(-1) &= \sqrt{-1}^{\sqrt{-1}} \end{aligned} \right\} \rightarrow 1\sqrt{a} + 1\sqrt{a} = \sqrt{a} - \sqrt{a} + a \rightarrow 10a = -11 \rightarrow a = -1.1$$

5

$$\begin{aligned} a &= 1 \quad b = \sqrt{2} \quad f(a-b) = \sqrt{a-b} + \frac{1}{\sqrt{a-b}} + \sqrt{2} \quad f(a+b) = \sqrt{a+b} + \frac{1}{\sqrt{a+b}} + \sqrt{2} \\ f(a+b) + f(a-b) &= \sqrt{a-b} + \sqrt{2} + \frac{1}{\sqrt{a-b}} + \sqrt{2} + \sqrt{a+b} + \frac{1}{\sqrt{a+b}} + \sqrt{2} = \sqrt{2}(\sqrt{a+b} + \sqrt{a-b}) + \xi \\ &\rightarrow \sqrt{2}(\sqrt{1+\sqrt{2}} + \sqrt{1-\sqrt{2}}) + \xi = \sqrt{2}(\sqrt{4}) + \xi = 2\sqrt{2} + \xi \\ &\downarrow \\ (\sqrt{1+\sqrt{2}} + \sqrt{1-\sqrt{2}})^2 &= 1 + \sqrt{2} + 1 - \sqrt{2} + 2\sqrt{(1+\sqrt{2})(1-\sqrt{2})} = 4 \end{aligned}$$

5

$$\begin{aligned} \sqrt{f(x)} - \sqrt{f(-x)} &= \sqrt{x} - x \xrightarrow{\times \sqrt{x}} \sqrt{f(x)} - \sqrt{f(-x)} = \sqrt{x} - x \\ \sqrt{f(-x)} - \sqrt{f(x)} &= x + \sqrt{x} \xrightarrow{\times \sqrt{x}} -\sqrt{f(-x)} - \sqrt{f(x)} = \sqrt{x} + \sqrt{x} \\ -2\sqrt{f(x)} &= \sqrt{x} + \sqrt{x} \rightarrow \sqrt{f(x)} = \frac{x + \sqrt{x}}{-2} \end{aligned}$$

1/8

$$f(x) = -\sqrt{x} - \frac{1}{2}x$$

$$\begin{aligned} x &= -1 \rightarrow -\sqrt{-1}f(0) = \sqrt{-1}^{\sqrt{-1}} - m(-1) + \sqrt{m-1} = 4f(0) = 14 + \sqrt{m} + \sqrt{m-1} = 2m + 12 \\ \rightarrow f(0) &= \frac{12 + 2m}{4} \quad x=0 \rightarrow \sqrt{f(0)} = \sqrt{m-1} \rightarrow f(0) = \frac{\sqrt{m-1}}{\sqrt{2}} \\ \rightarrow \frac{12 + 2m}{4} &= \frac{\sqrt{m-1}}{\sqrt{2}} \rightarrow \sqrt{2} + 10m = 11m - 4 \rightarrow 11m = 24 \rightarrow m = \frac{24}{11} \end{aligned}$$

$$f(0) = \frac{\sqrt{f(0)} - 1}{\sqrt{2}} = 4\sqrt{2}$$

$$f(-1) + f(-1) = \frac{\sqrt{-1} + \sqrt{-1}}{-1} \rightarrow f(-1) = -4$$

5

$$x-1 \geq 0 \rightarrow x \geq 1$$

$$\sqrt{x-1} + \sqrt{y+1} \geq 0 \rightarrow x \leq 1 \text{ or } y \geq -1 \rightarrow D_f = [1, 1]$$

$$x-1 \geq 0 \rightarrow x \geq 1$$